
MasonryMasonry StructuresStructures

8th 8th SeminarSeminar



Seminar task

� Design of masonry storage house
� Structural analysis, drawings



� Calculate the shear
resistance at the section
below the roof and at the
bottom of the wall in the
1st floor

� Compare the effect of 
normal stress on the 
shear resistance of the 
load-bearing wall

8th homework



� Design shear strength:

� γM = 2,0 (designed mortar)

� In case that the perpend joints are not filled
with mortar, the characteristic shear strength
is:

Shear strength of masonry
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� fvko – characteristic initial shear strength under
zero compressive stress, see table

Shear strength of masonry



� The effect of σd is
favorable for the
resistance of the structure
=> partial factors are:

� γF = 1,00 for dead load
� γF = 0 for live load

Shear strength of masonry

� σd – design compressive
stress perpendicular to the
shear plane

� fb – take the value from 5th homework



Shear resistance of the wall

� Resistance per 1 meter of the wall (t is
thickess of the wall):

� Compare the resistances of the two cross-
sections to understand the effect of normal
stress!

[ ]Rd vd  kN/mV t f= ⋅



Thank you for your attention

Any questions?


